Stolarsky Interspersions

Clark Kimberling

Department of Mathematics University of Evansville Evansville, Indiana 47722 U.S.A.

1. Introduction.

In his paper [4], David R. Morrison discusses two very interesting Stolarsky arrays and writes that "It would be interesting to have a classification of the Stolarsky arrays." Here, we introduce a class of Stolarsky arrays which we call *Stolarsky interspersions*. These arrays are in one-to-one correspondence with the zero-one sequences that begin with 1, and they include two arrays discussed by Morrison [4], namely, Stolarsky's original array (Table 1) of 1977 and the Wythoff array (Table 2), introduced by Morrison.

Throughout, let $\alpha = (1+\sqrt{5})/2$. The indexing of all sequences will start with 1. The notation s_j will be accompanied by an identifier such as "the sequence" or "the number". Rows and columns of arrays will frequently be regarded as sequences; thus, the notation a(i,j) can have any of four possible meanings: an array (both i and j vary), a row (j varies), a column (i varies), or a single number; nearby words will specify the intended meaning.

A sequence s_j is a positive Fibonacci sequence if

- (F1) the recurrence $s_j = s_{j-1} + s_{j-2}$ holds for all $j \ge 3$;
- (F2) there exists J for which $s_j > 0$ for all j > J.

A Stolarsky array is an array A = a(i, j) of positive integers such that

- (S1) for every i, the ith row, a(i, j), is a positive Fibonacci sequence;
- (S2) every positive integer occurs exactly once in A.

An array A is a Stolarsky interspersion if A satisfies (S1)-(S2) and also properties (S3) and (S4):

- (S3) every column of A is an increasing sequence;
- (S4) if u_j and v_j are distinct rows of A, and p and q are any indices for which $u_p < v_q < u_{p+1}$, then $u_{p+1} < v_{q+1} < u_{p+2}$.

The interspersion property, (S4), may be described as follows: as soon as a term of one row fits between successive terms of another row, all succeeding terms of each of these rows fit individually between individual terms of the other row. See Table 1 and Table 2. Arrays that satisfy (S1)-(S4) are called interspersions, and properties of interspersion proved in [4] and [3] hold, in particular, for Stolarsky interspersions.

Table 1. The original Stolarsky array

Table 2. The Wythoff array

In (R3) just below, [x] denotes the greatest integer $\leq x$. Later we use ((x)) to denote the fractional part, x - [x], of x.

Call an array A = a(i, j) a regular array if

- (R1) the first row of A is given by a(1,1) = 1, a(1,2) = 2, and a(1,j) = a(1,j-1) + a(1,j-2) for all $j \ge 3$;
- (R2) for all $q \ge 1$, a(q + 1, 1) = least positive integer not in the first q rows of A;
- (R3) for all $q \ge 1$, $a(q+1,2) \in \{ [\alpha a(q,1)], [\alpha a(q,1)+1] \};$
- (R4) for all $q \ge 1$, a(q+1,j) = a(q+1,j-1) + a(q+1,j-2) for all $j \ge 3$.

2.{ Stolarsky interspersions } = { regular arrays } .

The heading of this section indicates the main result in the article, which takes the form of Theorem 1 and Theorem 2. We begin with five lemmas.

Lemma 1.1. Suppose u is a positive integer. Then

$$((\alpha((\alpha u)))) = \begin{cases} \alpha((\alpha u)) & \text{if } ((\alpha u)) < ((\alpha((\alpha u)))) \\ \alpha((\alpha u)) - 1 & \text{if } ((\alpha u)) > ((\alpha((\alpha u)))) \end{cases}.$$

Proof: First, suppose $((\alpha u)) < ((\alpha((\alpha u))))$. That is, $((\alpha u)) < \alpha((\alpha u)) - [\alpha((\alpha u))]$, so that $[\alpha((\alpha u))] < (\alpha - 1)((\alpha u)) < 1$, whence $[\alpha((\alpha u))] = 0$, which implies $\alpha((\alpha u)) = ((\alpha((\alpha u))))$. On the other hand, if $((\alpha u)) > ((\alpha((\alpha u))))$, we similarly find that $[\alpha((\alpha u))] > (\alpha - 1)((\alpha u)) > 0$, so that $[\alpha((\alpha u))] = 1$, which implies $((\alpha((\alpha u)))) = \alpha((\alpha u)) - 1$.

Lemma 1.2. Suppose u is a positive integer. Then

$$((\alpha u - \alpha((\alpha u)))) = ((\alpha u)) - \alpha((\alpha u)) + 1.$$

Proof:

$$((\alpha u - \alpha((\alpha u)))) = \begin{cases} 1 + ((\alpha u)) - \alpha((\alpha u)) & \text{if } ((\alpha u)) < ((\alpha((\alpha u)))) \\ ((\alpha u)) - \alpha((\alpha u)) & \text{if } ((\alpha u)) > ((\alpha((\alpha u)))) \end{cases}$$

$$= ((\alpha u)) - \alpha((\alpha u)) + 1 \text{ by Lemma 1.1.}$$

Lemma 1.3. Suppose u is a positive integer. Then $[\alpha[\alpha u]] + 1 = u + [\alpha u]$. Proof:

$$\begin{aligned} \left[\alpha[\alpha u]\right] + 1 &= \alpha[\alpha u] + 1 - ((\alpha[\alpha u])) \\ &= \alpha \left\{\alpha u - ((\alpha u))\right\} + 1 - ((\alpha[\alpha u])) \\ &= \alpha^2 u + 1 - \alpha((\alpha u)) - ((\alpha[\alpha u])) \\ &= u + \alpha u + 1 - \alpha((\alpha u)) - ((\alpha^2 u - \alpha((\alpha u)))) \\ &= u + [\alpha u] + ((\alpha u)) + 1 - \alpha((\alpha u)) - ((\alpha u - \alpha((\alpha u)))) \\ &= u + [\alpha u] \text{ by Lemma 1.2.} \end{aligned}$$

Lemma 1.4. Suppose v is a positive integer of the form $[\alpha u]$ for some positive integer u. Then $[\alpha v + \alpha] = [\alpha v + 2]$. If v is of the form $[\alpha u + 1]$, then $[\alpha v + \alpha] = [\alpha v + 1]$.

Proof: It is known that v is of the form $[\alpha u]$ if and only if $((\alpha v)) > 2 - \alpha$. (See, for example, Section 2 of Fraenkel, Porta, and Stolarsky [2].) This inequality is equivalent to each of the following: $((\alpha v)) + ((\alpha)) > 1$, $((\alpha v)) > ((\alpha v + \alpha))$, $[\alpha v] - [\alpha v + \alpha] > \alpha$, $[\alpha v] - [\alpha v + \alpha] = 2$, and finally, $[\alpha v + \alpha] = [\alpha v + 2]$.

If v is not of the form $[\alpha u]$ then it must be of the form $[\alpha u + 1]$, and since then $[\alpha v + \alpha] \neq [\alpha v + 2]$, we have $[\alpha v + \alpha] = [\alpha v + 1]$.

Lemma 1.5. Suppose u_j is a row of a regular array. Then either

$$u_{2k} = [\alpha u_{2k-1}]$$
 and $u_{2k+1} = [\alpha u_{2k} + 1]$ for all $k \ge 1$,

or else

$$u_{2k} = [\alpha u_{2k-1} + 1]$$
 and $u_{2k+1} = [\alpha u_{2k}]$ for all $k \ge 1$.

Proof: By (R3), $u_2 = [\alpha u_1]$ or else $u_2 = [\alpha u_1 + 1]$, so we have two cases. Case 1. $u_2 = [\alpha u_1]$. Suppose for arbitrary $m \ge 1$ that $u_{2m} = [\alpha u_{2m-1}]$. Then

$$u_{2m+1} = [\alpha u_{2m-1}] + u_{2m-1}$$
 by (R4)
= $[\alpha [\alpha u_{2m-1}]] + 1$ by Lemma 1.3
= $[\alpha u_{2m}] + 1$.

Now suppose for arbitrary $m \ge 1$ that $u_{2m+1} = [\alpha u_{2m} + 1]$. Then

$$u_{2m+2} = [\alpha u_{2m}] + u_{2m}$$
 by (R4)

$$= [\alpha[\alpha u_{2m}]] + 2 \text{ by Lemma } 1.3$$

$$= [\alpha[\alpha u_{2m}] + \alpha] \text{ by Lemma } 1.4$$

$$= [\alpha u_{2m+1}] \text{ by induction hypothesis.}$$

We conclude that $u_{2k} = [\alpha u_{2k-1}]$ and $u_{2k+1} = [\alpha u_{2k} + 1]$ for all $k \ge 1$.

Case 2. $u_2 = [\alpha u_1 + 1]$. The proof in this case is quite similar to that of Case 1 and is omitted.

Theorem 1. Every regular array is a Stolarsky interspersion.

Proof: Let A = a(i, j) be a regular array. Each positive integer occurs at least once because of (R2). We shall show next that no entry of A can appear more than once. Suppose $\hat{u} = a(i, j)$ and $\hat{v} = a(m, n)$ are terms of a regular array A = a(i, j) and that $\hat{v} = \hat{u}$; we assert that (m, n) = (i, j). If not, assume \hat{u} is the least positive integer for which there is a number \hat{v} as described. Now, neither i nor m is 1 because of the manner in which terms in Column 1 are chosen. Therefore, $\hat{u} = [\alpha u]$ or $\hat{u} = [\alpha u + 1]$ for some u, by Lemma 1.5; similarly, $\hat{v} = [\alpha v]$ or $\hat{v} = [\alpha v + 1]$ for some v.

Case 1. $\hat{u} = [\alpha u]$ and $\hat{v} = [\alpha v]$, or $\hat{u} = [\alpha u + 1]$ and $\hat{v} = [\alpha v + 1]$. Then $[\alpha u] = [\alpha v]$, from which easily follows u = v, so that a(i, j - 1) = a(m, n - 1). But $u < \hat{u}$, contrary to our choice of \hat{u} as the least repeated term of the array. Thus, Case 1 cannot occur.

Case 2. $\hat{u} = [\alpha u]$ and $\hat{v} = [\alpha v + 1]$, or $\hat{u} = [\alpha u + 1]$ and $\hat{v} = [\alpha v]$. It suffices to consider only the former. From $[\alpha u] = [\alpha v + 1]$ follows $\alpha u - ((\alpha u)) = \alpha v - ((\alpha v)) + 1$, so that

$$v = u + \frac{1}{\alpha} \left\{ ((\alpha v)) - ((\alpha u)) - 1 \right\}.$$

Writing this as v = u + Q, we note that Q, as an integer strictly between $-2/\alpha$ and 0, must be -1, so that u = v + 1. The equation $[\alpha u] = [\alpha v + 1]$ therefore implies

$$[\alpha v + \alpha] = [\alpha v + 1]. \tag{1}$$

Now, since v immediately precedes $\hat{v} = [\alpha v + 1]$ in a row of a regular array, $v = [\alpha w]$ for some positive integer w, by Lemma 1.5. Therefore, by Lemma 1.4, Equation (1) cannot occur, and we conclude that no positive integer occurs more than once in A. We show next that A has the interspersion property, (S4).

Suppose u_j and v_j are distinct rows of A, and for convenience, suppose $u_1 < v_1$. (The argument if $u_1 > v_1$ is analogous to what follows.) Let p be the index for which $u_p < v_1 < u_{p+1}$. Lemma 1.5 shows that there are four cases:

Case 1. $v_2 = [\alpha v_1]$, $u_{p+1} = [\alpha u_p]$, and $u_{p+2} = [\alpha u_{p+1} + 1]$. As a first induction step, clearly

$$u_{p+1} < v_2 < u_{p+2}. (2)$$

Assume for arbitrary $m \ge 2$ that $u_{p+k-1} < v_k < u_{p+k}$. Then adding the inequalities

$$u_{p+m-1} < v_m < u_{p+m} \text{ and } u_{p+m-2} < v_{m-1} < u_{p+m-1}$$

gives $u_{p+m} = u_{p+m-1} + u_{p+m-2} < v_m + v_{m-1} = v_{m+1} < u_{p+m} + u_{p+m-1} = u_{p+m+1}$.

By induction, (S4) holds.

Case 2. $v_2 = [\alpha v_1]$, $u_{p+1} = [\alpha u_p + 1]$, and $u_{p+2} = [\alpha u_{p+1}]$. Since $[\alpha u_p + 1]$ lies in Row u_j and $[\alpha v_1]$ lies in Row v_j , we have $[\alpha u_p + 1] \neq [\alpha v_1]$. Assume that $[\alpha u_p + 1] > [\alpha v_1]$. Then $\alpha u_p + 1 - ((\alpha u_p)) > \alpha v_1 - ((\alpha v_1))$, so that $v_1 - u_p < 2/\alpha$, whence $v_1 = u_p + 1$. But then $[\alpha v_1] = [\alpha u_p + \alpha] \geq [\alpha u_p + 1]$, a contradiction. Therefore, $[\alpha u_p + 1] < [\alpha v_1]$, so that $u_{p+1} < v_2$. The condition $v_1 < u_{p+1}$ implies $v_2 < u_{p+2}$. Thus, the first step (2) holds, and just as in the proof for Case 1, (S4) holds.

Case 3. $v_2 = [\alpha v_1 + 1]$, $u_{p+1} = [\alpha u_p]$, and $u_{p+2} = [\alpha u_{p+1} + 1]$. Here, (S2) holds, and (S4) follows as in the proof for Case 1.

Case 4. $v_2 = [\alpha v_1 + 1]$, $u_{p+1} = [\alpha u_p + 1]$, and $u_{p+2} = [\alpha u_{p+1} + 1]$. Again, (S2) holds, and (S4) follows as in the proof for Case 1.

Theorem 2. Every Stolarsky interspersion is a regular array.

Proof: First, it is easy to show that (S1)-(S3) imply (R1), (R2), (R4). We show next that (R4) holds also. Suppose A = a(i, j) is a Stolarsky interspersion. For any $i \ge 2$, let

$$u = a(i, 1), \quad a(i_1, j_1) = u - 1, \quad \text{and} \quad a(i_2, j_2) = u + 1.$$

We shall show first that $a(i_2, j_2 + 1) - a(i_1, j_1 + 1) = 3$, then that a(i, 2) is one of the numbers $a(i_1, j_1 + 1) + 1$ or $a(i_1, j_1 + 1) + 2$, and finally that $a(i_1, j_1 + 1) + 1 = [\alpha u]$. We shall then conclude that a(i, 2) is one of the numbers $[\alpha a(i, 1)]$ or $[\alpha a(i, 1)] + 1$.

Let C denote the sequence a(i,1); that is, Column 1 of the array A. Let v_1 be the number of terms in C that are $\leq a(i_1,j_1)$, and let v_2 be the number of terms in C that are $\leq a(i_2,j_2)$. Now $v_2-v_1=1$, since otherwise u-1 or u+1, as well as u, belongs to C; but this is impossible, for if two consecutive positive integers w and w+1 belong to C, then let a(k,1) be the greatest number in C that is less than w, so that a(k,1) < w < w+1 < a(k,2), contrary to (S4).

By Lemma 3 in [3], we have

$$v_1 = a(i_1, j_1 + 1) - a(i_1, j_1)$$
 and $v_2 = a(i_2, j_2 + 1) - a(i_2, j_2)$, so that
$$a(i_2, j_2 + 1) - a(i_1, j_1 + 1) = v_2 - v_1 + a(i_2, j_2) - a(i_1, j_1)$$
$$= 1 + u + 1 - (u - 1) = 3.$$

Since $a(i_1, j_1) < a(i, 1) < a(i_1, j_1 + 1)$, we have $a(i, 2) > a(i_1, j_1 + 1)$, by (S4). Similarly, since $a(i, 1) < a(i_2, j_2) < a(i, 2)$, we have $a(i, 2) < a(i_2, j_2 + 1)$. Thus, a(i, 2), lying strictly between $a(i_1, j_1 + 1)$ and $a(i_2, j_2 + 1)$, must be $a(i_1, j_1 + 1) + 1$ or $a(i_1, j_1 + 1) + 2$. There are two cases:

Case 1. $u-1=[\alpha m]$ for some positive integer m. By Lemma 1.5, $a(i_1,j_1+1)=[\alpha u-\alpha+1]$. Let v=u-1 in Lemma 1.4 to obtain $[\alpha v+\alpha]=[\alpha v+2]$. That is, $[\alpha u]=[\alpha u-\alpha+2]$, so that $a(i_1,j_1+1)+1=[\alpha u]$.

Case 2. $u-1=[\alpha m+1]$ for some positive integer m. By Lemma 1.5, $\alpha(i_1,j_1+1)=[\alpha(u-1)]$. Let v=u-1 in Lemma 1.4 to obtain $[\alpha v]=+[\alpha v+\alpha-1]$. That is, $[\alpha u-\alpha]=[\alpha u-1]$, so that $\alpha(i_1,j_1)+1=[\alpha u]$.

3. Classification of Stolarsky interspersions.

Theorem 3. The set of Stolarsky interspersions are in one-to-one correspondence with the set of all zero-one sequences that begin with 1.

Proof: Let A be a Stolarsky interspersion. For $i \ge 2$, each entry a(i, 1) in Column 1 is uniquely determined by the entries of the preceding rows, and all column entries in columns numbered ≥ 3 are determined by the recurrence a(i, j) =

a(i, j-1) + a(i, j-2) for $j \ge 3$. Therefore, the sequence a(i, 2), which is Column 2, determines A.

Since the Stolarsky interspersions are in one-to-one correspondence with the regular arrays, we have $a(i,2) \in \{ [\alpha a(i,1)], [\alpha a(i,1)+1] \}$ for all $i \geq 2$. Define the classification sequence of A by

$$\phi_1(A) = 1 \text{ and } \phi_i(A) = \begin{cases} 0 & \text{if } a(i,2) = [\alpha a(i,1)] \\ 1 & \text{if } a(i,2) = [\alpha a(i,1) + 1] \end{cases} \text{ for } i = 2, 3, \dots$$

It is clear that the mapping $A \to \phi_i(A)$ is a one-to-one function from the set of all Stolarsky interspersions onto the set of all zero-one sequences that begin with 1. Conversely, every zero-one sequence beginning with 1 yields a Stolarsky interspersion, by (R3) and Theorem 1.

As suggested by the last sentence of the proof of Theorem 3, it is helpful to think of (B3) as a means of constructing all possible Stolarsky interspersions: for each row beyond the first, after the first term u (which is determined by (R2)), we can, by (R3), choose either $[\alpha u]$ or $[\alpha u + 1]$ to be the second term. The availability of both of these numbers means that neither has occurred previously in the construction. Thus, we have the following corollary.

Corollary 3.1. Suppose A = a(i, j) is a Stolarsky interspersion. If $a(i, 2) = [\alpha u]$ then $[\alpha u + 1]$ occurs in a row of A numbered higher than i. If $a(i, 2) = [\alpha u + 1]$ then $[\alpha u]$ occurs in a row of A numbered higher than i.

Theorem 4. The classification sequence of the Wythoff array W is given by $\phi_i(W) = 1$ for all n > 1.

Proof: Column 2 of W is given (for example, Morrison [4]) by $w(i, 2) = [\alpha^2 [\alpha i]]$. By Lemma 1.3, then, $w(i, 2) = [\alpha [\alpha i]] + 1$, which is $[\alpha w(i, 1)] + 1$.

Theorem 4 shows the Wythoff array to be maximal among the Stolarsky interspersions in the sense that its classification sequence dominates all others: $\phi_i(W) \ge \phi_i(A)$ for all $i \ge 1$, for all Stolarsky interspersions A. It is natural to inquire about the minimal array, W', given by $\phi_i(W') \le \phi_i(A)$ for all $i \ge 1$, for all A. We call W' the Wythoff dual. (Generally, every A has a dual A' defined by

$$\phi_1(A) = 1 \text{ and } \phi_i(A') = \begin{cases} 1 + \phi_i(A) \text{ if } \phi_i(A) = 0\\ 1 - \phi_i(A) \text{ if } \phi_i(A) = 1 \end{cases} \text{ for } i = 2, 3, \dots$$

It is not difficult to prove that the first column of the Wythoff dual is given by

$$w'(1,1) = 1$$
 and $w'(i,1) = [\alpha[\alpha i - \alpha + 1] + 1]$ for $i = 2,3,...$

Column 2 is given by $w'(i, 2) = [\alpha w'(i, 1)]$, Column 3 by $w'(i, 3) = [\alpha w'(i, 2) + 1]$, and so on, in accord with Lemma 1.5.

Consider the array B = b(i, j) defined as follows:

- (B1) the first row of B is given by b(1,1) = 1, b(1,2) = 2, and b(1,j) = b(1,j-1) + b(1,j-2) for all $j \ge 3$;
- (B2) for all $q \ge 1$, b(q + 1, 1) = least positive integer not in the first q rows of A:
- (B3) for all $q \ge 1$, b(q + 1, 2) = least positive integer b such that no term of the Fibonacci sequence b(q + 1, 2), b(q + 1, 2) + b,... is equal to any b(i, j) for 1 < i < q and $j \ge 1$;
- (B4) for all $q \ge 1$, b(q+1,j) = b(q+1,j-1) + b(q+1,j-2) for all $j \ge 3$. Note that (B1)-(B4) are like (R1)-(R4) except for (B3), which with (B2) suggests the name least-least array for B.

Conjecture. The least-least array is the Wythoff dual.

The classification scheme presented in the proof of Theorem 3 depends on which of two possible numbers occupies the second column of a Stolarsky interspersion, for each row after the first. It is natural to ask where the other number — the one not appearing in Column 2 — 1ies. According to Theorem 5 below, this other number always lies in Column 1.

Lemma 5.1. Suppose A = a(i,j) is a Stolarsky interspersion. If v = a(i,1) for some $i \ge 2$, then v + 1 = a(k,j) for some $k \le i - 1$ and $j \ge 1$.

Proof: If not, then v + 1 = a(i + 1, 1), by (R2). Since v - 1 = a(h, j) for some $h \le i - 1$ and $j \ge 1$, we have a(h, j) < v < v + 1 < a(h, j + 1), contrary to (S4).

Theorem 5. Suppose A = a(i, j) is a Stolarsky interspersion and $i \ge 2$. Let v = a(i, 1). If $a(i, 2) = [\alpha v]$, then $[\alpha v + 1] = a(k, 1)$ for some $k \ge i + 1$. If $a(i, 2) = [\alpha v + 1]$, then $[\alpha v] = a(k, 1)$ for some $k \ge i + 1$.

Proof: Case 1. $a(i,2) = [\alpha v]$. We have $[\alpha v+1] = a(k,j)$ for some $k \ge i+1$, by Corollary 3.1, for some $j \ge 1$. If $j \ge 2$, let u = a(k,j-1). By Lemma 1.5, $[\alpha v+1] \in \{[\alpha u], [\alpha u+1]\}$. Since $u \ne v$, we have $[\alpha v+1] = [\alpha u]$. But then, as argued in Case 2 of the proof of Theorem 1, u = v+1. This means, by Lemma 5.1, that u lies in a row of A numbered $\le i-1$, contrary to u = a(k,j-1). Therefore, j = 1.

Case 2. $a(i,2) = [\alpha v + 1]$. The proof is similar to that of Case 1 and is omitted.

4. Row-swapping in Stolarsky interspersions.

For any array A = a(i, j), let R_i denote Row i of A and let R'_k denote all of Row k except the first term. The (i, k) row-swap of A, written A(i, k), is the array that results from A by interchanging R_i and R'_k . We use the term row-swap to mean also the operation that carries A onto A(i, k). For example, the succession

(2,3), (5,8), (10,16) of row-swaps, applied to the Stolarsky array S (see Table 1) results in an array (which we write as S((2,3;5,8;10,16))) whose first twelve rows agree with those of the Wythoff array (Table 2).

Lemma 6.1. $(([\alpha m]/\alpha)) + 1/\alpha > 1$ for every positive integer m.

Proof: $(([\alpha m]/\alpha)) + 1/\alpha > 1 = (((\alpha - 1)[\alpha m])) + \alpha - 1 = ((\alpha[\alpha m])) + \alpha - 1$, which exceeds $(2 - \alpha) + \alpha - 1$, by the Fraenkel-Porta-Stolarsky inequality used to prove Lemma 1.5.

Lemma 6.2. For every positive integer m, $((\alpha m))/\alpha + (([\alpha[\alpha m])) = 1$, $[[\alpha m + 1]/\alpha] = m$, and $[[\alpha m]/\alpha] = m - 1$.

Proof: Let $m \ge 1$. Below, we use the inequality in Lemma 6.1 to evaluate $(([\alpha m + 1]/\alpha))$ as $(([\alpha m]/\alpha)) + 1/\alpha - 1$:

$$[[\alpha m + 1]/\alpha] = [\alpha m + 1]/\alpha - (([\alpha m + 1]/\alpha))$$

$$= {\alpha m + 1 - ((\alpha m))}/\alpha - (([\alpha m + 1]/\alpha))$$

$$= m + 1/\alpha - ((\alpha m))/\alpha - (([\alpha m]/\alpha)) - 1/\alpha + 1$$

$$= m + 1 - {((\alpha m))}/\alpha + (([\alpha m]/\alpha))},$$

so that $((\alpha m))/\alpha + (([\alpha m]/\alpha))$ is an integer. It is clearly positive and less than 2, so it must be 1, so that the first two assertions are proved. For the third, we have $1/\alpha + (([\alpha m]/\alpha)) > 1$ by Lemma 6.1. Then $1 = [1/\alpha + (([\alpha m]/\alpha))] = [[\alpha m + 1]/\alpha - [[\alpha m]/\alpha]] = [[\alpha m + 1]/\alpha] - [[\alpha m]/\alpha] = m - [[\alpha m]/\alpha]$.

Theorem 6. Suppose A = a(i, j) is a Stolarsky interspersion. Let i and k be distinct positive integers. Then the row-swap A(i, k) is a Stolarsky interspersion if and only if

$$a(k,2) - a(k,1) = a(i,1).$$
 (3)

Proof: Write A(i, k) as A' = a'(i, j), and suppose A' is a Stolarsky interspersion. Then in Row i of A', we have a'(i, 3) = a'(i, 2) + a'(i, 1), and (3) follows.

For the converse, suppose A is a Stolarsky interspersion and i and k are indices for which (3) holds. Let u = a(i, 1). By Lemma 1.5, $a(i, 2) \in \{ [\alpha u], [\alpha u + 1] \}$, and $a(k, 1) \in \{ [\alpha m], [\alpha m + 1] \}$ for some $m \ge 1$.

Case 1. $a(i, 2) = [\alpha u]$ and $a(k, 1) = [\alpha m + 1]$. We shall show that m = u:

$$u = a(k, 2) - a(k, 1)$$
= $[\alpha[\alpha m + 1]] - [\alpha m + 1]$ by Lemma 1.5
= $[(\alpha - 1)[\alpha m + 1]]$
= $[[\alpha m + 1]/\alpha]$
= m by Lemma 6.2.

Case 2. $a(i, 2) = [\alpha u]$ and $a(k, 1) = [\alpha m]$. We shall show that this cannot occur:

$$u = a(k, 2) - a(k, 1)$$

= $[\alpha[\alpha m] + 1] - [\alpha m]$ by Lemma 1.5
= $1 + [[\alpha m]/\alpha]$
= m by Lemma 6.2.

But then a(k, 1) = a(i, 2), contrary to (S2).

Case 3. $a(i,2) = [\alpha u + 1]$ and $a(k,1) = [\alpha m + 1]$. The method of proof for Case 2 readily shows Case 3 to be impossible.

Case 4. $a(i, 2) = [\alpha u + 1]$ and $a(k, 1) = [\alpha m]$. The method of proof for Case 1 yields u = m.

The array A(i, k) has the same rows as A except for Row i and Row k. It follows that (R1)-(R4) hold for A(i, k); in particular, (R4) holds as a result of Equation (3), and (R3) holds as shown in Cases 1-4 above. By Theorem 1, therefore, A(i, k) is a Stolarsky interspersion.

Theorem 6 shows that infinitely many Stolarsky interspersions B can be obtained via a sequence of row-swaps from any given Stolarsky interspersion A. One must not ask for too much, however, for it is not true that every B can be obtained from every A. For example, one can start with the original Stolarsky array (Table 1) and find a sequence of row-swaps that place all the terms of row 2 (that is, 4, 6, 10, 16,...) into column 1. It is clear that the resulting array cannot be returned by row-swapping to the original array. One wonders just which Stolarsky arrays can be obtained from others by row-swapping.

References

- 1. A.S. Fraenkel, *The bracket function and complementary sets of integers*, Can. J. Math. 21 (1969), 6–27.
- 2. A.S. Fraenkel, H.A. Porta, and K.B. Stolarsky, *Some arithmetical semi-groups*, in "Analytic Number Theory", Proc. of Conf. in Honor of Paul T. Bateman, Progress in Math. 85 (1990), 255-264.
- 3. A.S. Fraenkel and C. Kimberling, Generalized Wythoff arrays, shuffles, and interspersions, Discrete Mathematics (to appear).
- 4. C. Kimberling, *Interspersions and dispersions*, Proc. Amer. Math. Soc. 117 (1993), 313-321.
- 5. C. Kimberling, Orderings of the set of all positive Fibonacci sequences, Proceedings of the Fifth International Conference on Fibonacci Numbers and Their Applications (1993) (to appear), Kluwer, Dordrecht.
- 6. D.R. Morrison, A Stolarsky array of Wythoff pairs, in "A Collection of Manuscripts Related to the Fibonacci Sequence", Fibonacci Association, Santa Clara, 1980, pp. 134–136.
- 7. K.B. Stolarsky, A Set of generalized Fibonacci sequences such that each natural number belongs to exactly one, The Fibonacci Quarterly 15 (1977), p. 224.